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1. a) 20,67 m? b) 53,3 m? c) 77,44 m? d) 63,3 m? 2. 6,875 m? b) 15,48 m?
3. Die Wand hat eine Fléiche von 18,15 m®. Ein Eimer reicht nicht aus.
4. a)A=3,06cm%u=86c¢cm h) A=9,88 cm? u=14,4cm c)A=53cm%u=11.9cm d) A=6,095 cm? u=12,5cm
5. 40=80 p-22.5 p-s5em 6. 2)855m2  b)26,04m?
7. a)A=4-2cm*=8cm?  b)A=7-35cm?=245cm? 8. a)A=9cmzu=132cm  b)A=252cm?u=209cm
9. ) A=2772cm?  b)A=18.275 cm? 10~ 3= 8209
u=231cm u=19,1cm 5+c=14
¢= 9cm
Seite 79

1. a)u=83cm:A=225cm?  bju=8cm;A=288¢m* cju=71cmA=1389 em?  d)u=123cm; A=495cm?
2. a) Rechteck: A=175cm%u=19cm

b) Quadrat: A=1225cm?% u=14¢cm

¢c) Dreieck: A=19,25cm% u=20,5¢cm

d) Parallelogramm: A=24,75 cmZ u=20,2cm

e) Trapez: A=16,5cm% u=174cm

f) Raute: A=6cm%u=10cm

g) Drachen: A=14cm%u=2313cm

h) Drachen: A=6,25cm?% u=16,4cm
3. a) A=245cm% u=19,8cm b) A=32cm?%u=264cm c) A=289cm%u=228cm

d) A=248cm?u=215cm e) A=174cm%u=20,1cm f)y A=3472cm%u=258cm
a)a=8cm b)yh=9,6m c)c=29cm dyb=15m e)g=16m f)c=72cm g)h=40cm h)e=40cm

Seitenwande rechis/links jeweils: 7-0,8-2,7 m?=15,12m?

Dachflichen rechts/links jeweils: 7 -0,8- 2,75 m?>= 154 m?

Front (Wand + Dach): 6:08-27mi+2: 548 -365m?=1752 m?
insgesamt: 78,56 m?



